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22X6=132 0.22X6= 2. 2X60=
204 X8=1632 2. 04X 8= 20. 4 X 8=
72X7=504 7.2X7T= 0.72X7=
313 X5=1565 3. 13X56= 313X0. 5=
509 X9=4581 0. 09X 9= 509 X0. 09=
204 X6=1224 20. 4X6= 204 °X0. 6=
033 X3= 1599 533X0. 3= 5. 33X3=
902 X2= 1804 90.2X2= 902X0.02=
42 X15= 630 0.42X15= 42X1. 5=
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0.21X3= 3. 1X5= 0.33X2=
0.12X5= 0. 4X 6= 2. 13X 30=
0. 6X3= 5X0, 7= 3.02X5=
0. 3X 8= 0. 21X 7= 0. 22X 40=
4. 12X 2= 60, 21= 5. 32X 2=
5%0. 13= 7.5X2= 1. 09X 6=
180, 3= 12. 1X4= 0. 11X 80—
0. 2X 9= 0.4X11= 12.32X3=
6. 02X 4= 7X3. 2= 50, 41=
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0. 13X 7= 6.9X 2= 0. 23X 30=
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1. 25X 8= 1. 25X 8X 11= 11X8X 1. 25=
0.5X 2= 0.5X2X3. 2= 3.2X2X0, 5=
20, 05= 8. 9X 2X0. 05= 0.05X8. 9X 2=
0. 4X5= 1. 7X5X0, 4= 0.4X1.7X5=
0.8X12. 5= 9.3%12.5%X0. 8= 12. 59, 3X0. 8=
0. 25X0. 4= 8. 4X0. 25X0, 4= 0. 4X8. 4X0, 25=
200, 5= 6.3X0. 5X20= 6.3X20X0. 5=
0. 60, 5= 0.5%2.1X0, 6= 2.1X0.6X0. 5=
0.5%0. 8= 0.8X3. 40, 5= 0.5%3. 40, 8=
2X0. 5= 2X2.17X0. 5= 2.17X0. 5X 2=
0. 25X 40= 0. 25X 5. 26X 40= 405, 260, 25=
0. 6X 5= 0.6X2.11X5= 2. 11X5X0, 6=
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. 1X10+0.9X10= 0.5X41—0.5X40= 6. 7X99-+6. 7=
.6X5.2—0.6X4. 2= 0.7X53—0.7X52= 0. 9X99+4-0. 9=
.3X9.2+1.3X0. 8= 8.1X3.2—8.1X2.2= 0.3X101—0. 3=
.6X09.344.6X0.7= 56 X7.3—56X5, 3= 3.2X99+3. 2=
. 1X0.8+9.1X0. 2= 9.32X21—9.32X11= 9.8X99+9. 8=
L4 X4, 640. 4 X5, 4= 0.1X1.1—0.1X0.1= 3.6—3.6X0.9=
.8 X446, 8X6= 9.1X3.2—9.1X3= 7.2—7.2X0.9=
.2X0.740.3X9. 2= 5.6X1.9—0.9X5. 6= 2.2X101—2. 2=
.3X33+67X4.3= 7.8X6.7—7.8X5. 7= 6.3X9+6.3=
L2X2.140.9X8. 2= 1. 2X35—0. 2X35= 8. 8X101—8. 8=
LTX2.5+3.7X7.5= 0.6X1.5—0.6X0.5= 5.6X9+5. 6=
.8X9,5+4. 8X0.5= 3.8X2.2—3.8X1.2= 4,5X99+44, 5=
.3X0.6+2.3X0.4= 7.5X2.3—7.5X2.2= 7.7X101—7.7=
L7X5.7+5.7X4. 3= 1. 27X31—1.27X21= 6. 8—6.8X0, 9=
L2XT7.2+7.2X2.8= 3. 8X38—2.8X38= 9.9X9+4+9. 9=
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1.5X2= 1.5X2+7= 7T—1.5X2=
1. 5X4= 1.5 X4+7= 7—1.5X4=
1. 5 X8= 1. 5X8+7= 12—1. 5X8=
TX1.5= 7T+7X1.5= 20—7X1.5=
3.5X2= 3.5X2+3.6= 3.5X2—3.6=
0. 36 X100= 4. 6-+0. 36 X100= 45.7—0. 36 X100=
10X6. 1= 2.8+10X6.1= 98.5—10X6. 1=
3.1X0.5= 3.1X0.5+0.2= 2—3.1X0. 5=
6.2X0.2= 6.2X0.2+1.3= 6.2X0.2—0. 24=
20X 3. 4= 3.2+20X3. 4= 70—20X3. 4=
2.4X3= 2.5+2.4X3= §—2.4X3=
3.9 X10= 3.5X10+1. 6= 3.5X10—30=
0.4X0. 2= 2.1+5.4X0. 2= 2—5.4X0.2=
20X2.3= 3.5+20X2. 3= 50—20X2. 3=
0. 75 X100= 0. 75X100+4. 5= 80.5—0. 75X 100=
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7.5X0. 1= 0.125X8+10= 4X0,25—0. 5=
600X0. 03= 0. 25X8. 5 X4= 5,6 X2, 1—5.6X1. 1=
0.35X0. 2= 0X0.54+3. 2= 30X0.1+13=
0.3X0. 3= 12.5X0. 96 X0. 8= 0.5X16.2X2=
0. 26 X200= 0.29X100—12= 3.8X4, 6+3.8X5. 4=
0.4X0.5= 0. 25X0. 73 X4= 20—0.8X12. 5=
0. 5X90= 0.7X9—0. 3= 5.4X11—5.4=
2. 01 X0= 4,63 X12,. 5X8= 1—1.5X0. 4=
7.2X2= 0.8X1.1+2= 32X0. 25X0.125=
0.7X0, 4= (1. 25—0.125) X8= 0.65X101=
0.01X0.1= 10—4.5X2= 140. 35 X2=
3.6X0. 3= 3. 72X3.5+6. 28 X3. 0.25X36=
4X0. 8= 2.3X0.2+1= 4.1X0, 2+2=
2.5X0, 4= 6.7X3.3+6.7X6.7 3.5X99+3.5=
30X0. 17= 8§—1.5X4= 1. 25X6. 9X0. 8=
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0.7X3+0.7X7= 5—5X0. 1= 0.65X11—0.65X1=
12. 5X8X0. 6= 2.5X(8—0.8)= 2.3X(4.2—3.9=
0. 15X 240, 6= 0.5+1.4-+0.6= 4,.8—1.9—0.1=
3.6—12X0. 1= 8.7X11—8. 7= 2.5X3.1+2.5X0. 9=
7.4X3.2X0= 5.8+21. 6+4. 2= 3.4 X5X0, 2=
2.06X99+2. 06= 2.5X2.1X0. 4= 0. 98 X99-+0. 98=
4X2.1X2= 4.02—0.5X0. 8= 3.76 X2.1—3.76 X2=
11—0.9X10= 8.8X1. 25= 0.23X4,4—0, 23 X4=
2.5X(40—4)= 0.62X0.4X0,5= 56. 2X0. 6+56. 2X0. 4=
0.3X2.2—0.52= 1—0.8X0.7= 0. 2X19-40.2X31=
1. 5X4+0. 6= 0.7X0.9X10= 7.2X9+7.2=
2. 1X99+2. 1= 8—1.6X5= 6. 2X101—6. 2=
2.5X3.8X4= 4X1.25X2. 5= 2.5X44—2,. 5X40=
5.7X1.25X0. 8= 4X0.5+1. 8= 0.68X0.5X2=
3X3.1X2= 7.6+3.5+2. 4= 8. 3X0.8X1. 25=
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%17 L8125 31. 25 L5115 51.15 © L1248 145  0.094
48 4.8 4.8 140. 6 140. 6 31.51 31.51 0.68 4.8  0.96
69 6.9 6.9 %3 W 69. 36 69. 36 L16 0.4 4.84
369 3.69  3.69 0.63  15.5  0.66 87.12 8.712 6.39 4.2 0.72
156  15.6 15.6 0.6 2.4 63.9 %57 2.88 0.72  0.72
248 24.8 248 L8 3.5 15. 1 0.72  0.072 0.06 9.09  1.11  6.48
1435 14.35 14.35 2.4 1.47 8.8 0.1 0.01  1.86 | $ 7R
108 10.8 10.8 8.24  1.26  10.64 1L.04  0.104 0.024 > > >
1385 13.5 13.5 0.65 15 6. 54 2,01 0.201  0.455 < > <
125 12,5 125 5.4 48.4 8.8 450.9  45.09 192 > < >
288 28.8 28.8 1.8 4.4 36. 96 7.35  0.735  0.546 > > <
155 155 155 24,08 22,4 2.05 .55  0.155  1.827 < < <
186 18.6 18.6 35.42  1.32  40.8 0.27 2.7 0. 682 > > =
484 4.84  4.84 0.91 13.8 6.9 0.098 0.098 3.212 > < <
816 8.16 8.16 4.68 448 8.8 9.99  0.999  0.324 > < <
896  8.96  8.96 525 112 6.28 152 0.152  4.26 > > <

%27 21.99 7.7 30. 69 3.09  30.9  1.421 < > =
1.32 132 4.8 0.8 1.26 184  0.184 2.44 > > =
16. 32 163. 2 § 47 0.085 0.085 5.04 < > =
50. 4 5. 04 19. 28 19. 28 0.75  0.75  0.055 < > >
15. 65 156.5 3.72 3.72 %67 > < >
45.81 45. 81 3. 60 3. 60 0.8 0.08 114 < > =
122. 4 122.4 81.0 0. 810 0.65  0.35  4.32 4 8
159.9 15. 99 49. 68 49. 68 .89  0.09 57 6 5.6
180. 4 18.04 29.58 29.58 0.45  0.243 0.192 10 0.54 7383
6.3 63 5.95 0.595 10 0.1 0. 54 0.52 0.4 738.3
12.32 1232 112.75 11. 275 21 6.3 0.75 .92 0.48  73.83
43.2 4,32 76. 38 7.638 60 6.48  2.52 4200 0.9 73. 83
15. 81 1581 43. 40 4,340 26 4.55  6.24 0.6 0.26  7.383

32. 36 323.6 L636.4 63.64 | 86.4  0.637 3.69 | 850 0.36  738.3 69
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0.054 12 7383 10.8 11 3 6.33  6.33 | 75 79.5 5.5
1 790 0.7383 | 37.5 38 100 637 637 14T
0.336 0.88  7.383 | 2.26 2 b5 3.5 3.5 i 075 11 0.5
17 0.54 7383 | 2.68 3 § %12 | P18 8.5 5.6
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5.4+3= 5. 4+9= 5.4+3())1
8.1+3= 8.1+9= 5.8+5.8()1
9.8+7= 2.49+3= 5.8+6()1
7.2+8= 7.2-6= 7.2+8()1
3.6+6= 3.6+3= 3.63()1
4,5+3= 4.5+5= 4.5+5()1
7.7+7= 7.7+10= 7.7+70)1
5.1+3= 5.1+17= 5.1+-17(O)1
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4.2--0.7=(

0.42--0. 2=(

4.5-+0.05=(

0.015-+0. 03=(

48-=+0.4=(

9.6=0.4=(

1.23--0. 3=(

3.06=0. 6=(

0.28+1.4=(

0.85+0.05=(

0.25+0.5=(

1.6+0.2=(

12--0. 6=(

2.17--0.7=(

9.8+1.4=(

w ek, Bt A

)=7=(

)+2=(

)+—5=(

)=3=(

)+4=(

) —4=(

)+3=(

) —6=(

)+ 14=(

) =5=(

) +5=(

)+—2=(

) —6=(

Yy =7=(

)+ 14=(

1.

0.

0.

~ AN ERFR KNI (1)

2=+0.12=(

33+3.3=(

72--0. 24=(

.20, 24=(

. 243--0.3=(

LA48=+1.2=(

.0+0.17=(

.54--0.3=(

.27+0.16=(

.78=0.3=(

.64--0.16=(

L75+1.5=(

.36=0.6=(

.870.14=(

.54--0.18=(
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) +24=(

) +3=(

)+12=(

) +17=(

) +3=(

) +16=(

)+—3=(

) +16=(

)+ 15=(
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8+—0. 3= 0.18=+0.03= 7.8+—3.9=
2—0.7= 0.42--0.07= 9.3+—3.1=
6+—0. 9= 0. 36=+0.09= 3.9+—1. 3=
.9=0.7= 0.49-+0.07= 0.36+0.12=
.8+0.8= 0.48-=0.08= 0.57=0.19=
5-—0.5= 0.25-0.05= 0.99-+0.11=
5+—0.5= 0.15=0.05= 0.63=+0.21=
1-+-0. 3= 0.21-0.03= 0.75=0. 25=
4-=-0.7= 0.14-+0.07= 0.92+4.6=
3—0.9= 0.63=0.09= 0.36=+0. 18=
5—0.7= 0.35=0.07= 0.77—=0.11=
2-0. 8= 0.72--0.08= 0.48-=0.12=
4--0. 6= 0.54--0.06= 0.82=0.41=
8+—0.4= 0.28=0.04= 0.51=+0.17=
1+-0.9= 0.81=+0.09= 0.65=+0.13=
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32-0.8=

28=0.4=

0.3=0.15=

4,.5-+0.05=

0.2--0.01=

5.2+0.04=

77-0.7=

2.5+0.05=

9.6-0.03=

1--0. 2=

0.4--0.05=

1.2-0.3=

0.9--0.01=

2.8=0.07=
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5
270-—30= 14. 7==70= 84-—4. 2=
27+—3= 14. 7=7= 8404, 2=
2.7+—0.3= 14.7--0.7= 8400+4. 2=
0.27--0.03= 14, 70, 07= 8.4=+—4, 2=
200+—40= 75.6+—90= 0.84-+4.2=
20—4= 75.6+—9= 0.084—+4, 2=
2—0.4= 75.6-+0.9= 630, 3=
0.2-+0.04= 75.6=+0,.09= 630+—0. 3=
3.8+0.2= 19. 2+—4= 63000, 3=
0. 38=0.02= 19. 2+—40= 6.3+0. 3=
0. 038=+0.002= 19. 2=+-400= 0.63-+0, 3=
320+-80= 25.5+50= 3.2—0.4=
32-+—8= 25.5+—5= 32=+0.4=
3.2+—0.8= 25.5+—0.5= 320+—0. 4=
0.32=0.08= 25.5+0.05= 32000, 4=
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LA, 2. LR,
3+1.5= 3+0.5= 3+1.5()3
3+5= 3+0.3= 313
3+10= 3+0.1= 3+0.3(0)3
2.4+2= 2.4-0.2= 2.4=2()2.4
2.4+1. 2= 2.4-0.3= 2.4+1.2()2.4
2.4=4= 2.4-0.6= 2.4=1()2.4
2.4+8= 2.4-0.8= 2.4+0.8()2.4
16.8+2. 1= 16. 80, 2= 16.8+2.1()16.8
16.8+4= 16.8-0. 4= 16.8+1()16.8
16. 8+8= 16.8-0. 8= 16.8-0.8()16.8
3.6%2= 3.60.2= 3.6+0.2()3.6
3.6+4= 3.6-0. 4= 3.6+0.4()3.6
3.6+6= 3.6-0. 6= 3.6=1()3.6
3.6+9= 3.6+0.9= 3.6+2()3.6
3.6+3= 3.6-0.3= 3.6+-9()3.6
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3.2-+-0.8= 14. 21=+7= 6.12-+-0. 6=
22.4+—4= 2.4=—0.4= 10. 5=5=
0.24--0.4= 0.27--0.3= 10. 8+0. 9=
0.56+—8= 1+-0.5= 4. 4—-11=
7.2—0.6= 2—0.4= 0.15+3=
4. 6-=+0.2= 12.9-+0. 3= 0.48-+0. 24=
30+0. 5= 4, 08+—4= 6. 06—3=
7.8—6= 7.2+—2= 150+300=
21.7T+—7= 4, 08+—8= 13.5=+0.5=
1.3+0.13= 3.6+3.6= 0.54=+—6=
3.8+—2= 3+—0.6= 0.72+—3=
0.32+—4= 0.72-0.12= 0.69+23=
1. 25=+5= 0.55=+0.5= 9.09—+—9=
1.28+0.4= 0.81=+0.9= 3.2+-0.4=
4--0. 8= 0.16—+—0. 8= 7.7+-11=
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1--0.1=10 1--0.01=100 1--0. 001=1000



6.4=1.6=

17.4=-0. 6=

3.8+0.2=

3.6+1.8=

35.5+0.5=

9.2--0.4=

11.2--0. 2=

0.38-=0.02=

0.48-0.03=

0.96--0.12=

0.32=+1.6=

7.2—1.2=

5.4--0.3=

21.3-+0. 3=

0.84--0. 04=
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.72--0. 8=

L13+1.3=

.92--0. 2=

.55=+0.5=

L 780, 6=

.12--0. 6=
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30=0. 02=

4.5=+0.15=

6.5+0.13=

4,9--0.07=

35.5+0.05=

5.2=+0.13=

9.6-+0.04=

8.4--0.07=

8.2-+0.01=

75-+—2.5=

0.27--0.03=

5. 1=-0.17=

6.4-0.08=

1.6-0.02=

8§7-+2.9=
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0. 66++-= 1+3= 2. Teeeaw
3. 8181+ — 93— 9, 644 A
0. 00606+ — 1+9= 2. 802802+
1,550 = 9+9= 32. 132132+~
0. 847847+ = 39— 1. 39090+~
4. 3285285+ = 49— 7. 29~
4. 012333 = 59— 1. 002~
1. 5426426+++= 69— 10. 198~
0. 844+++= 79— 2. 56~
0. 24040+ = §+9— 2. 717~
2. 32020-++ = 10+9= 0. 87~
0. 8999+ = 11+9= 2. 164~
4. 2727+ = 12+9= 3. 49~
0. 628628+ = 13+9= 5. 07~
7. 045450+ — 14+9— 0. 925
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2.88=—9= 3.798=9=
3. 888=+—9= 4. 6998=-9=
4, 8888 +9= 5.59998+-9=
0. 88888+—9= 6.499998-=-9=
6. 888888=+9= 7.3999998=-9=
7. 8888888+—9= 8.29999998=-9=
8. 88888888 =+9= 9. 199999998 +-9=
12X9=108 9X9—1=80
123X9=1107 98 X9—2=880
1234X9=11106 987 X9—3=8880
12345 X9= 9876 X9—4=
123456 X 9= 98765 X9—5=
1234567 X 9= 987654 X9—6=
12345678 X9= 9876543 X9—7=
123456789 X 9= 98765432 X9—8=
I — 4 - - —
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1+11=0.09  2=11=0.18  3=11=0.27  4=11=0. 36
5-11=0.45  6=11=0.54  -eeee
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71=2= 5. 6+7-—4= 2.1-0.3—0.8=
3.0+2= 0.48-+0.3+2= 13+43.6-+0. 06=
4, 25+5= 9.9+1. 1+3= 0.36=0.09—0. 7=
61X0. 5= 0.36+(0.09+3)= (4.8+5.2)=+0. 2=
61-0.5= 4,9-(0.7=-0.7)= 0.67+0.14+0. 1=
22X0.5= 5.8X2-+5,.8= 200—9. 6-+0. 08=
22-0.5= 3.9X0.5+3.9= 5.4=0.6—0.4=
22.5+0.5= 0. 24 X8=+2.4= 1+0.5+0.5=
58.6+58. 6= 1.2-0. 3X7= (3.8+1.6)+0.6=
1.69-+—13= 48=—-1.2+2= (3.8—1.1)=+0.3=
4. 86+6= 7.28+3= 0.64=-0.16—2.5=
32--0.5= 3.8+1.9X0.4= (2.7+7.3)+0.5=
7.28-+0.7= 8.8+2.2+2= 15+40. 81+0. 9=
1.21+1. 1= 5.6X3=+5.6= 10—5.7=+1.9=
7.5+25= 7.8+(7.8+2)= (6.4—0.8)=+0.7=
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1.5X2= 0. 5X4= 4,80, 2=
1.5=-0.5= 0.5-+0. 25= 4, 8X5=
2.5X2= 1X4= 3.6+0. 2=
2.5+—0.5= 1--0. 256= 3.6 X5=
3X2= 1. 3X4= 8.8+0.2=
3=—0.5= 1.3--0. 25= 8. 8X5=
4, 5X2= 0.75=+0. 25= 10. 6+0. 2=
4.5+0.5= 0. 75 X4= 10. 6 X5=
12X2= 1. 2X4= 2.9—-0. 1=
12--0. 5= 1.2--0. 25= 2. 9X10=
4 X 2= 3X4= 2.4--0. 2=
4=-0. 5= 3+0.25= 2.4X5=
0.0 X2= 0. 5X4= 5.2+—0.1=
5.5+0.5= 0.5=+0. 25= 0. 2X10=
6—=0.5= 2=0.25= 7.6X0.1=
2 E,-ia-ia -------------------------------------------------------------------------------
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T manasen

L3RR
5.6+3.5=5.6-+0.7-(
4,8-+3.2=4.8=0. 8-+
6.6+—4.4=6.6-+2. 2+
8§+32=8+8=+( )
3.9+5.2=3.9+1.3-+(
44--55=44-11-+( )
3.5+—1.4=3.5—7-+(
4,2--3.5=4.2--0.7-—(
51+34=51-+17-( )
8. 7+5.8=8.7+-2.9+(
93+62=93-+31-+( )
5.4-+4,5=5,4-0.9+(
99-+22=99-+11-+( )

8.56+3.4=8.5+1.7+(

38+95=38+19-( )

TAERHF E(R)

Bi%>(1)

2.3,
6. 94, 6=
9.9+6. 6=
2.7+4. 5=
2.8+3.5=
84--105=
21-+28=
1.2+1.5=
57--38=
36-+4. 5=
54-+45=
7.2+4.8=
28-+-35=
4,6+11.5=
22-+55=

6.5+—2.6=
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8+4+40.8+4= (84-0.8)+4= 8+0.8+4=
8+4—0.8+4= (8—0.8)+4= 8§—0.8+4=
1+-0.540.5=0.5= (1+0.5)=+0.5= 1+0.5+0.5=
1+-0.5—0.5+0.5= (1—0.5)+0.5= 1—0.5+0.5=
7T=740.7+7= (74-0.7)+=7= 7+0.7+7=
(=7—0.7T=7= (7—0.7) 7= (—0,7=7=
0.9-+9+0.18=+9= (0. 94-0. 18) 9= 0.9-+0.18+9=
0.9+9—0.18=+9= (0.9—0.18)+9= 0.9—0.18=+9=
2.8+7+2.1+7= (2.8+2. D =7= 2.8+2.1+7=
2.8+71—2.1+7= (2.8—2. D=T7= 2.8—2.1+7=
3.0F5+2.5+5= (3.5+2.5)+5= 3.5+2.5+5=
3.9+5—2.5+5= (3.5—2.5)+5= 3.5 2.5+5=
1.8+6+1.2+6= (1.8+1.2)+6= 1.8+1.2+6=
1.8+6—1.2+6= (1.8—1.2)=6= 1.8—1.2=+6=
3+0.5+2+0.5= (3+2)=+0. 5= 3+2-+0.5=
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(a—b)+~c=a+c—b=+c



EaBasew TAERHF E(R)
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O BB EAIE IS HAES

7.2()0.1=0. 72 36()0.5=36.5 8()0.5=16

7.2()0.1=72 36()0.5="72 17()0.5=8.5

7.2(0.1=17. 3 36()0.5=35. 5 0.42()0.1=4.2

7.20)0.1=7.1 36()0.5=18 2.8()0.2=14
36()1.5=24 2.7()0.3=3
36()1.5=54 31()0.5=62
36()1.5=37.5 4.5()1.5=6
36()1.5=34.5 5.4()0.9=4.5
3()0.25=0.75 5(0.25=1.25
3()0.25=12 2.8()0.1=0.28
3()0.25=3.25 1.8()0.2=0. 36
3()0.25=2.75 2(0)0.25=8
1.6()0.25=0.4 3.6()0.1=36
1.6()0.25=6.4 5.8()0.2=6
1.6()0.25=1. 85 8.1()0.9=9
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3.9+1.3=

2.5+5=

0. 63+—9=

2.8+0.4=

4,04--2=

12.6=0. 3=

4,42, 2=

1.8=-0. 2=

0.1--0.01=

2.8+4=

§+0.04=

6.5+0. 1=

10. 6+100=

3.6=+0.6=

5. 4=—-9=

o

5.6 X12.5=0.7=

0.24-+0.8+0.3=

0.75+0.5+0.5=

0.3+@2—1.7H=

17.4--0.8=+1.25=

1.8=0.2+3=

24-0.6+10=

7.2-3.6+5=

(7.54+2.5)+2.5=

2.7—4-=-0.27=

2X9-+1.8=

14.4=-2—5=

2X0.,8=0.4=

3.8+1.9+0.5=

10—6.4--0. 8=

sb_ . — Bt DEREHNI

= NERRE é

2=-0.4+2.5=
3.6+0.4+9=
9—0.8=0. 2=
2X1.4--0.7=
3.8+1.9—1=
20—7.4--0.37=
6=(3.5—2.3)=
4--0.5-+0. 8=
(1.4+2.1)=0.7=
48.6+0.25+4=
0.46--0.23+3=
9+4.5—2=
(7.8—6)+0.3=
7.5X3=+25=

6.5+0.13X0. 1=
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0.21+0.15( )1 0.12-0.15()0. 12 0.12x0.15()0. 12
0.21=1.5()1 0.12+1.5()o0. 12 0.12x1.5()o0. 12
5.8+4()1 5.8+4()5.8 5.8x4()5.8
5.8+0.4()1 5.8+0.4()5.8 5.8%0.4()5.8
0.32+0.8())1 0.32+0.8()0. 32 0.32>0.8()0. 32
8.1+-9())1 8.1+9()8. 1 8.1x9()8.1
0.84=2.1())1 0.84-2.1()0. 84 0.84x2.1()0. 84
300120 )1 300--120( ) 300 300120()300
0.6+0.06( )1 0.6+0.06()0. 6 0. 6>0.06()0. 6
0.6>0.06( )1 4=5( )54 2.5+4()2.5+0.4
3.5+0.7()1 3.5+0.7()3.5 3.5%0.7()3.5
12.6=6.3()1 12.66.3()12.6 12.6x6.3()12.6
1.6+0.08( )1 1.6+0.08()1.6 1.6x0.08()1.6
4.8+1.2()1 4.8+1.2()4.8 4.8%1.2()4.8
9.9+3.3)1 9.9+3.3()9.9 9.9x3.3()9.9
2 R i e
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0.32--0. 04=

2.6=0.2=

4=-5=

0.75=+1.5=

6.4-=-0.08=

0.96+—2. 4=

0.55=+1.1=

8.1--0.03=

22.2=-1.11=

5.3+53=

3.8=0.01=

3.26=0. 2=

9.3=0.3=

0.56+1.4=

P AR S g AR

7.5+3=

0.9-+-30=

0.48=—16=

16.8=+0. 6=

5+0.256=

7.58=—10=

3.4+1.7=

2.3+w2=

4,9-=-0.7=

0.21--0. 3=

9.6+0.8=

0. 96 X3=-0. 96=

6.5+13+8. 5=

0.64-0.8X12. 5=

100—1--0.01=

35.6—8-+0.4=

1.8=0.9=0. 1=

(2.8+3.6)+4=

24--8—2. 1=

10—0.6-+0.1=

(10—0.6)=0. 1=

3.5+7+10.5+7=

(10.5—3.5)+7=

10. 5—3.5+7=

6.443.6+4=

0.45=+0.5X2=
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BRER
%17 L8125 31. 25 L5115 51.15 © L1248 145  0.094
48 4.8 4.8 140. 6 140. 6 31.51 31.51 0.68 4.8  0.96
69 6.9 6.9 %3 W 69. 36 69. 36 L16 0.4 4.84
369 3.69  3.69 0.63  15.5  0.66 87.12 8.712 6.39 4.2 0.72
156  15.6 15.6 0.6 2.4 63.9 %57 2.88 0.72  0.72
248 24.8 248 L8 3.5 15. 1 0.72  0.072 0.06 9.09  1.11  6.48
1435 14.35 14.35 2.4 1.47 8.8 0.1 0.01  1.86 | A
108 10.8 10.8 8.24  1.26  10.64 104 0.104 0.024 > > >
1385 13.5 13.5 0.65 15 6. 54 2,01 0.201  0.455 < > <
125 12,5 125 5.4 48.4 8.8 450.9  45.09 192 > < >
288 28.8 28.8 1.8 4.4 36. 96 7.35  0.735  0.546 > > <
155 155 155 24,08 22,4 2.05 .55  0.155  1.827 < < <
186 18.6 18.6 35.42  1.32  40.8 0.27 2.7 0. 682 > > =
484 4.84  4.84 0.91 13.8 6.9 0.098 0.098 3.212 > < <
816 8.16 8.16 4.68 448 8.8 9.99  0.999  0.324 > < <
896  8.96  8.96 525 112 6.28 152 0.152  4.26 > > <
%27 21.99 7.7 30. 69 3.09  30.9  1.421 < > =
1.32 132 4.8 0.8 1.26 184  0.184 2.44 > > =
16. 32 163. 2 § 47 0.085 0.085 5.04 < > =
50. 4 5. 04 19. 28 19. 28 0.75  0.75  0.055 < > >
15. 65 156.5 3.72 3.72 %67 > < >
45.81 45. 81 3. 60 3. 60 0.8 0.08 114 < > =
122. 4 122.4 81.0 0. 810 0.65  0.35  4.32 4 8
159.9 15. 99 49. 68 49. 68 .89  0.09 57 6 5.6
180. 4 18.04 29.58 29.58 0.45  0.243 0.192 10 0.54 7383
6.3 63 5.95 0.595 10 0.1 0. 54 0.52 0.4 738.3
12.32 1232 112.75 11. 275 21 6.3 0.75 .92  0.48  73.83
43.2 4,32 76. 38 7.638 60 6.48  2.52 4200 0.9 73. 83
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% 33 W
1. 8x=0. 24
fift . 8x+8=0. 24+8
2=0.03
Kz 46 -
FREAE 1 =8X0. 03
=0. 24
=hHEHH
BTk, 2=0. 03 A FERIAR .

=37.09—0.89

L P FRAE=0. 480, 32

x+=5=17.6

L 5X5=T.6X5

x=38

e
R =

=7.6
=Tt

B .2=38 RO RO,

0.92=15.3

0. 920 9=15. 30,9 |

x=17

RN
R AE =0, 9X17

=15.3
=Jitefiih

L e—17 B R

x+0.32=1.5

032X 0.2=1.5X0.32

x=0.48

=15
=Jittiil

x=17.29
3.6x=0.72

i3, 623, 6=0. 723.6

x=0.2
2.8x=17.28

a2 S 8=7. 2842, 8
fift: x—36+36=169436

x=2.6
x+—6.9=8.5

x="58. 65
3R
19. 6—2=12

.19, 6—xhr=12+z

19.6=12+x
12+x=19.6

1242—12=19,6—12 |

x=17.6

R
L BRI =19.6—7.6

=12
=TIt

CRRLL=T. 6 BT,

k.
RN =4515

ﬁ# 6x—5.5+5.5

4.5+x2=3

%45 xXx=3Xx

4, 5=3Xx
3Xx=4.5
3Xx+3=4.5+3
x=1.5

=3
=itEfih

L a=1.5 JE T R

i 18—2=1.72

18— xta=1.724x

5 18=1.72+x

: L724x=

D L724r—172=18—1.72

f =16. 28

oy

L PR N=18—16. 28

= =1.72
=Jitetih

B .a=16. 28 ST RRAAE,

1. 8+2=0.03

1. 8=0. 03x
0.03x=1.8

00800, 08=1 8=-0.3

=160

g3
IR

=1.8-60
=0.03
=T A

;%Um:%%ﬁﬁ%%o

%35 W
16+8x=40

8xr=24
8xr+—8=24-+-8
x=3
S5x+8X7=61
fift .5x+56=61

| 52 +56—56="61—56

Sx=5
S5x=—5=5+5
x=1
6x—5.5=1.7

6x="7.2
6x—6=7.2-+6
x=1.2

| z—12.5+12.5=3.14+12.5

®x=
PN W W N N W W W N W N W W W W N e §%uﬁ;

L 0. 2242.3X4=10
i 0.22+9.2=10
- 0.22+9.2—9,2=10—9, 2

0.2x=0.8
0. 20+0.2=0.8-+0.2
x=4

:0.82—1.5X3=14.5
fi#: 0.8x—4.5=14.5
- 0.8r—4.5+4.5=14.5+4.5

0. 8x=19
0. 8x=+0.8=19--0. 8
x=23.75
3x+27=108

f# . 32+27—27=108—27

3xr=381
3xr+—3=81-+3
x=27
% 36 ®
(2. 84a) X4=20. 8

; i (2841 X 4+4=208+4
: fi#t:1. 82 Xx=0.03Xx
DL, a=0. 48 T TRHYAR. | |
12, x0.9=8.1 f
20,90, 9=8,1X0,9

2.8+x=5.2
2.84+x—2.8=5.2—2.8
x=2.4
(x—4.5+3=10

fift: (x—4.5)+3X3=10X3

a—4.5=30

L x—4.5+4.5=30+4.5

x=34.5
13(x—5)=169

% 13(—5)+13=169--13

6, 9X6.9=8 56,9 | Me16+8x—16=40—16 |

x—5=13
x—5+5=13+5
x=18
(x+2.6)+4=32

i (2. 6) 4 X4=32X4

a+2.6=128
r+2.6—2.6=128—2.6
x=125.4
8(x—12.5)=24.8

—1745.5 i :8(x—12.5)+8=24.8+38

x—12.5=3.1



(3.65—x) 0. 8=4
fi# . (3. 65—x) 0. 8X
0.8=4X0.8
3.65—x=3.2
2=3.65-3.2
x=0.45 |
6(z—5)=12.6
fift:6(x—5)+6=12.6-6
x—5=2.1 :
x—5+5=2.1+5
x=7.1
(32 +0.1)+2.5=0.4
fitt s (32+0. 7)+2.5%X2.5 |
—0.4X2.5
3x+0.7=1 ’
3x+0.7—0.7=1—0.7
32=0.3
3x+3=0.3+3
x=0.1
3T R
(3.6—1.2)+x=2.5
i 2.4+x=2.5
2=2.4+2.5 |
x=0.96
4x—3. 28=6.56
fi# . 4x—3. 28+3. 28
=6.56+3.28
42=9. 84
dr=+4=9.84+1
x=2.46
22+9.5=10. 2
f#:20+9.5—9.5=10.2—9.5 |
22=0.7 '
202=0.7+2
2=0. 35
(22—1)+4=1.8
fift: Qr—1D+4X4=1,8X4
20—1=7.2 |
20—1+1=7.2+1
2x=8.2
20+2=8.2+2 |
=41
102—2X 1, 5=21
. 10x—3=21
10x—3+3=21+3
10x=24
102+-10=24-+10
x=2.4

e

' (2—5)+0,2=6.2

E 1. 4x+72=132

Kk
§ FRLAE =4 X12+7X12

. (12—3)2=8. 1

1. 6X3+42=13.6

4. 8+4x=13.6
4. 8+4r—4.8=13.6—4.8 |
4r=8.8 '
dr+4=8.8+4
x=2.2

fitt: (x—5)+0.2X0, 2

=6.2X0.2
x—5=1.24

—5+5=1.24+5
x=06.24
Br—0.8)+2.5=0.4

=0.4X2.5 !
3x—0.8=1

| 320—0.8+0.8=1+0. 8

3x=1.8
3xr+—3=1.8=+3
x=0.6
% 38 |

L (4D =132

11x=132
11lx=—11=132-+11
x=12

=48+84
=132
=Jittfiin

=12 SRR

12x—3x=8.1

9xr=28.1
9xr=+—9=8.1-+9
x=0.9
K5 -

| IEH=12X0.9-3X0.9 |

=10.8—2.7
=8.1
=it

B =0.9 RITROE. |
i 2. x—0.25x=0.9
B |
L 0. 7500, 75=0.9+0. 75 :

0. 752=0.9

x=1.2

s

| 7.2X0.5—3r=12
. 3.6—32r=1.2
L 3.6—3x+3x=1.2F3x

e 5) T 2X2=T.5¥2 |

x+2.5x=14.7

3.52=14.7
3.5x+3.5=14.7+3.5
: x=4.2
L 1224+82r=64.8
. 202="64.8
| 202+20="64. 820
; x=3.24
L 4. 62—0.62=0,86X2
i 4r=1.72
’ dr+4=1.72+4
=0, 43

| 5. 2x+3x—5=3.2
ff: (3x—0.8)+2.5X2.5 g g 9, 53 2

| 8. 20—5+5=3.2+5

8. 2x=38.2
x=1

%39 R

3.6=1.2+3x
1.2+3x=3.6

12432 1.2=3.6—1.2

3x=2.4
3x+—3=2.4-+3
x=0.8

8xr—x—1=15.8
i Te—1=15.8

Tx=16.8
x=16.8-+7
x=2.4

(x—5)+2=7.5

xr—5=15
x=20

2r4+16=80

fift.x+4=80—16
x-4=64
x=64X4
x=256
%40 | :
LS=ah=11X5 8= |
63. 8(m*)
S=ah=6.5X3. 7=
24.05(m?) 3

S =ah+2

f,_’if—mt (R)

S=ah=8X10.5=84(nt)
S=ah=7.2X5=36(nt)
Fih—.S=ah=15X
5.33=79. 95(m?)
ik .S=ah=6.5X%X
12.3=79. 95(m?)
FHE—:S=ah=5. 6X
4, 625=25. 9(m?)
Hh . S=ah=5.18X
5=25.9(m%)

2.a =S+h

=254.2+12. 4
=20. 5(dm)
h=S-+—a
=49.02-+8.6
=5.7(dm)
AR

=25.6X9+2
=230.4-+2
=115. 2(dm*)

S =ah+2

=18X27=2
=486-+2
=243(dm”)

- S=ah=2

=19X5.2-+-2
=98.8+2
=49, 4(dm®)

S =ah=2

=15X18=+2

=270+2

=135(dm*)

:S=ah—+2
=32X7.8+2
=249.6+-2
=124. 8(dm®)

HkT.S=ah+2

=13X19.2-+2
=249.6+-2
=124. 8(dm?)
:S=ah—+2
=35X17-+-2
=595-+2
=297.5(dm?)



el
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FE—:S=ah=2
=29.75X20+2 |
—595-+2 '
—297. 5(dm?®)

S =70.5X8=2 :
=564-=+2
=282(dm®)

S —68X 572
—3876+2
=1938(dm?)

%42

h =2S-+a
=2X5.4+3.6
=10.8+3.6
=3(m)

h =2S-+a
=2X3.6=2.4
—7.2+2.4
=3(m)

a=2S+h
=2X180+15
=360=15
=24(m)

a=2S+h
—2X20.725.6
—41.44+5.6
=7.4(m)
30X 4050

—1200+50

=24(cm)
13.5X6-4.5

—81+4.5

=18(m)
45.2X2+8

=90.4+8
=11.3(m)
140X 225
— 28025
=11.2(m)
%43 |

LS=C(atmh+2 |

=(3.8+2)X4.5+2 3.
—5.8X 4,52 ’
=26.1+2
=13.05(cm?)

S=(at+bh+2
=4+ X7+2
=12X7-+2
=842
=42(cm?)

S=(at+bh=2
=(10+20) X182
=30X18-+-2
=540-+2
=270(cm”)

S=(at+bh+2

2
=18.2X8.9=+2
=161.98=+2
=80. 99(em®)

(12—4.8—1.2412)

X822
=18X8.2-+2
=147.6-+2
=73.8(m")

%44 T

.h=2S+(a+b
=2X624=(15+25) |

=1248--40
=31. 2(m)

h =2S-+(a+b)
=2X144-+(14+18)
=288-+-32
=9(m)

.b=25+h—a

=2X30+3—4.5

=60+3—4.5

=20—4.5

=15. 5(m)
a=2S+h—b

=2X4,95+1.8—3.5 |

=9.9+1.8—3.5
=5.5—3.5
=2(m)
(13+21) X7+2
=34X7+2
=238=+2
=119(cm*)

1262

L =27X8+2+36
| =108+36

= (4. 2414) X8. 9+ 4G ‘
A E R = GBI |
EROK T TR |
NEV AT |

=23X5-=-2+60+40.5
L —57.5+100. 5

=158(cm?) ‘
AR R= B |
RO AT WA

| =38.5X21+2—25.5
| =404.25—25. 5
| =378.75(cm?)

(6—2.446)X2. 152 |
—9.6X2.1+2
=20.16+2
=10. 08(cm*)

%157 |

AAEBER = )
CEEOCGAB R

(124+15) X8+ 2+ |

(5-+18) X5+245X |
12+13.5X 62

(8.5+30) X 21+2— |
8.5X6=2

15X9—15X2-+2
=135—30+2
=135—15
=120(cm”)
%46 W
Tith—:
12X54(12—6) X (10
—5)+2

- =60+6X5+2
- =60+15

- =75(cm®)
Tk

(5+10) X (12—6)+2
+5X6

| =15X6-+2430

=45+30

=75(cm®)
k=,

(6+12) X5-+-2+10X
(12—6)+2
=18X5+2+10X6=+2

L =45+30

=75(cm®)

i SLP

10X 12— (6+12) X
(10—5)+2

=120—18X5+2

A& B R = (=i =120—45

O EROGIO B =75(cm?)

22X (BHTHE) 2 |

L (5 X T2  (5F10)X12+2—6X
=22X21+2—11XTE2 | (10—5)+2

| =231—38.5 =15X12+2—6X5+2
=192, 5(em®) - =90-15
AR = (= =75(cnd)

O FRDK TR | BT

L 12x3+2+H12X6  910+35+1

| =36+2+72 =26+

L =18+72 =27 _
- =90(cm?) L 1562711 a“
LRI = CEA M | =221 59
RO AER =21 -1



(604-40) X 25 :
—100X 25 ’
—200+5
—40
(16-+1) X 12
—17X12
—204
(39—1) X 27
—38X27
—1026
35X4—4
—140—4
—136
(61—1) X4+ (21—1)
— 60X 420
— 24020
—12 :
336+ (7—1) X (12—1) |
=336+6X11 ‘
—56%11
—616
% 48 W
1. (1)3.2X2.58=8.256 |

2.5

8
X .2
6

~ o1
JISQuu Ot

774
8256
(2)0. 364--26=0. 014

0.014
26 0. 4

— Do W
[@RelorRep)
O =~

(3)0. 865X39=33. 735

0.8 65
X 39
7785
2595
33.735

(4)84.42-+-0.18=469

69
0,188 4.4 2

— =~

AL

(5)8.2X0.29=2.

378
0.2 9
X 8.2
58
232
2.3 78
L (6)3.361.4=2.4
2.4
1.4)3.3.6
28
56
6
. 0
P2, (1 (8X9.27)X1. 25
P =8X1.25%09.27
=10X9. 27
=92.7

- (269.5x101

=69. 5X(100+1)
=69. 5X100+69. 5X1
=6950+69. 5
=7019.5

L (3)0. 681-+0. 68199

=0. 681 X (1499
=0. 681X100
=68.1

L (4)4.85+0.125+8

=4.85+(0.125X8)
=4.85+1
=4.85

L (5)57X15.7+15.7X43 |

=(57+43)X15.7
=100X15.7
=1570

L (6)9.6X28+2.4

=90.6+2.4X28
=4X28
=112

%49 |

Q612425
|24 2=2.5
L 2. 4FaXa=2.5Xx

2.4=2.5x
2.5x=2.4
2.5x+2.5=2.4+2.5

s ERLE®R)

i 4x—3.28=6.56 3 2xF2. 4x=11.2

L dx—3.28+3.28 fi. 5.6x=11.2
’ =6.563.28 |5 605 6=11.2%5.6
4x=09. 84 j =2
4r+4=9.844 | (x—5)=0.2 =6.2
: r=2.46 i (x—5)+0.2X0. 2
L 4. 62—0. 62=0.8 : =6.2X0.2
L 42=0.8 x—5=124
5 da+4=0, 84 x—545=1. 2445
x=0.2 x=06. 24
: 20+9.5=10.2 ‘ %50 W
L 22+9.5—9.5=10.2—9.5! 1. (1)12X6-+12X3+2
5 2x=0.7 L =724362
22+2=0.7+2 =72+18
: x=0. 35 | =90(cm?)
| 260—172=0.18X3 (DUX5E24(14+18)
Cf#. 92=0.54 X9+2
L 92+9=0.54-+9 —70+2+32X9+2
: =0, 06 =35-+16X9
L2 (14.743.5)=0.8 =35-+144
L f#. 2+18.2=0.8 - =179(em®)
D 218,218, 2=0.8X182 | (3)15X9—15X2=+2
5 +=14.56 | =135—30+2
: 2r—1D+4=1.8 | =135—15
(e DAX4=1.8X4 | =120(em®)
; 2r—1=7.2 i (4)(8+14)X10+2—4X8
2r—1-+1=7.2+1] =22X5—32
20=8.2 | =110—32
20+2=8.2+2 =78(cm")
=41 2. (1D A0F100) X 60=-2—
97r—36=9 : 2030
B9 —36436=9436 =140 X 60-2—600
' 9x=145 =4200—600
9xr+9=45-+9 =3600(m?)
; =5 L (2)40X 1552
| 102X 1 5=21 . =600+2
i :100—3=21 - =300(m’)
P 102—3+3=21+3 L (3)32X22+2—21 X142
: 102=24 = 704+2—2942
102+10=24-+10 =352—147
; r=2.4 - =205(m’)
| 2.8X5—2=3.8 L (D3XT+2
fft14—2=3.8 L =21+2
l4—x+2x=3.8+=x : =10. 5(m")
14=3. 8+ P 3.3.6X2+-2.4
L 3.8+a=14 L =7.2+2.4
$3.8+7r—3.8=14—3.8 | —3(cm)
: +=10.2 1 96+5=19. 2(cm)
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=50 =380
Az (2)
1. 9.55 0.18 5.2 0.125 0.18 0.9 5 4.35 1.68 0.8 1.5 0.027
2. o100 32—2=15
.4 .17100 0 fift:32—a+[a] =15+[4]
o i [32]=15+[]
T 15+[a]=[32]
15+[a]—[15]=[32] —[15]
x=[17]
2.4+ 7=3 18— r—4
fi# 2. 4=+ X [x]=3X[a] f#.18—x+r=4+=x
[2.4]=3X[4] 18=4+=x
3X[z]=[2.4] 4+2=18
3X[z]+[8]=[2.4]+[3] 44 1—4=18—4
x=/0. §] x=14
4.5+=x=1.5 x+—5=26
fi#.4.5+xXx=1.5Xx filt . r+5X5=26X5
4.5=1.5Xx x=130
1.5Xx=4.5 KL A =25
1.5Xx+1.5=4.5+1.5 =130+5
x=3 =26
_ _ *7? Eﬂ
3. (D3x=324  (2)5x=80
Az (3)
1.0.7 20 1.5 0.9 0.72 98 0.037 1.61 0.1 1.52 0.25 7
2. 2x+0.8=12.7 9(x—4)=63
fitt . 22+0. 8—[0. 8] =12. 7 [0.8] fi#:9(x—4)+[9]=63=+[9]
22= x—4=[1]
21-+:+ x—4+[4]=[7]+[4]
x=15. 95 x=[11]
(5x—12)X6=18 B
f# . (52— 12) X 6--[6]—18=[6] oxr—7X3=4
B . 50—21=4
Sz—12=[3] Sr—214+21=4+421
S5r—12+4[12]=[3]+[12] B
50=25
5= 1] 5r+5=25+5
52+ [5]=[15]+ 5] T
=3 *
(54—3x)+2=21 7(32—20)=28
. (54—32)=2X2=21X2 f@#.7(3x—20)~=7=28=7
54—3x=42 3x—20=4
54—3x+3x=42+3x 32—20+20=4+20
54=42+3x 3r=24
42+3x=54 3x—+—3=24-+3
42+3r—42=54—42 x=8
3r=12 K56 .
3r+3=12-+3 HRELEN=T732—20)
=4 =7X(8X3—20)
=7X4
=28
=AM
BT =8 M.





